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1 x ®F T & L|B B E F % 0 500 6, 000 6,535
2 56 & B|l# &= B F % 0 0 100 434
3 L E = % F| B X® # E = 0 0 500 1,186
4 L&A M B |lE &8 2 B = 0 0 100 149
5 =] w0V A H |0 8 ) 0 500 3,000 4,650
6 a ¥ UV TEL | BADDLEXRYICIT SR 0 0 200 225
7 o E wE0vE | R # ) 0 500 6, 000 71,367
8 fia F 4 % F | & i = 0 0 100 104
9 & E LARL | X R # H 0 = 0 0 500 676
FZRE 0. 00% 6.87% 75.59% 100. 00%

7 BEHREH 21,326

1 EIREH 502

v BREBE (T+A) 21,828

T FbEY - TRE- 20ft 0

T BREEHE (V+I) 21,828
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1 HERER HRR 644.910
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3 BHIh#tHO= M 1, 238. 652
4 NGk NGz 3,187.944
5 AAR{ER HER 1,642.3178
6 FRERR =18 165. 000
7 BHEXR BRR 1,709.679
8 HRRE RE 139. 706
9 BARDDLZEXRIZT % B 246. 550
10 AFOREIMAKBEGNEDL | EFEDREEILARKER 254. 000
11 RiEER R 4,810. 546
12 XEFBEGL XETL 235.875
FRE 100. 00%

7 BUIREH 21,005

1 EWREH 821

v BRERH (T+A1) 21, 826

T HHRY - TRE - ToOM 0

T BREHERH (V+I) 21, 826




